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PART -1

CHILD DEVELOPMENT AND

PEDAGOGY

The atmosphere is the external power,
which affects us. Who said this ?

(A) Woodworth
(B) Ross

(C) Anastasi

(D) None of these

The small child shows which expression
by throwing toys and other items apart
by separating its parts ?

(A) Dependency

(B) Feeling of love

(C) Curiosity Tendency
(D) Repetition trend

The sentence - “Child in the age group
6 to 9 years is more interested in his
immediate environment” implicates :

(A) Curriculum should not be very

comprehensive

(B) Lessons should be centered on the

local issues

(C) Lesson on personal hygiene and

cleanliness will be more meaningful

(D) All of the above

AT - 1
T faanta wa e yrer

TSR] 38 S Vfe €, S 85 gferd et
2 miFm g2

(A) Fead

(B)

(C) AT

(D) T A FE

Bler Ry faeiFi den s oy 1 Wt
IHF AT I ST HTh FG 9ra =l @i
82

(A) S

(B) TH Wl e

(©) foamnwgfa

(D) e # wgfd

"6 0 9=y I STRIET 1 T 3T ATHITAR
FreRe § Afyes v T &' @ et ¥

(A) TSTER Aty famm A

(B) IS T Y&l W Higa &

(C) =aferma wesd IR w@Re W I8
Ay aneden €

(D) ST a+f
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The use of technology to enhance learning

process is called in

education.

(A) IT—

(B) ICT

(C) Information Technology

(D) Communication Technology

Which of the following criteria can be
used to define intellectual disabilities ?

(A) Significantly below average
intellectual functioning

(B) Impairments in adaptive
functioning generally

(C) These deficits should be manifest
before the age of 18 years

(D) All the above

An example of a Developmental Disorder
is:

(A) ADHD

(B) Dyslexia

(C) Mental Retardation

(D) Autistic Spectrum disorder

For motivation students should be
praised :

(A) In solitude

(B) Separately

(C) Among people

(D) Individually

fRraror Wiz shi g o fere Tehfiteht 2 7
% foen d el S B

(A) FE2L -
(B) SRETEL.

(C) = SRhfirht

(D) EaR Yrenfient

difge famaimar w1 gt w3 & fag
=1 weel § 9 forgent ST foran ST W
®?

(A) i it FHeS A e

(B) WM UR WX STl HRhTS § B

©) T AR F1 18 o W o ¥ v
Tehe oo ST =nfey
(D) SYUeRT @t

faerraTcas T o1 T SR §

stiiRon & ferg farnfil w1 weien =6t S
=feq :

(A) THTH

(B) o W

(C) <l % =

(D) afed 94
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8. ‘Logos’ means Knowledge and ‘Psyche”

means :
(A)
(B)
©)
(D)

soul
=
consciousness

behaviour

9. The democratic approach in education

means :
(A)
(B)
(©)
(D)

equal educational opportunities
equal treatments of unequals
uniform behaviour of teacher

all of the above

10. ‘Boasting’ is a form of :
(A)
(B)
©)
(D)

aggression
compensation
substitution

rationalisation

11. Which is not true about the development
of behaviour ?

(A) It proceeds from generalized mass

activity to specific responses.
(B) It is a gradual and a continuous

process.

It varies from child to child and the

sequence is not uniform.

©)

It proceeds in a cephalo-caudal and

(D)

proximo-distal direction.

10.

11.

‘S’ w1 1l & 9 Al e et ©

(A) 3T
@B ==
(C) EsT
(D) TR

foren & wsTraifsren gfteenion &1 31 T

T ferh e

31-GH AR o HY YA HTER
TRl o =IEER | TH&ETdl
o

(A) ATHHAT

(B) afafd

(C) Tomeq &
(D) Fferd T S

IR % fahi % Hee § T W T § 2

(A) T8 9 wnffes Giean @ fafire
yfefskan Rl 3K ST |
(B) ¥ U i oiR TaRd Wi ¥

g W STer % fae firet 2t § 8l
0 B THEA1 T8 a8 S |

7g vid-yes i T @ g feum
T wed T

©

(D)
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12.

13.

14.

Word ‘Mainstreaming’ means :

(A) providing most
education for each child in the least

appropriate

~  restrictive setfings

(B) creating alternatives to help
children with
adjustment problems

learning or

(C) focusing on educational needs of
special children

(D) All of the above

The main principles of learner centered
education are :

(A) Learning by doing
(B). Learning by living
(C) Both

(D) None of these

‘Assessment as learning’ is the most
crucial component of assessment under
CCE because :

(I) It helps imbibing skills of learning

to learn.

() develop abilities for lifelong
learning.

(A) Only
(B) Only (I)

(C) Both (I) and (II)
(D) Neither (I) nor (II)

12.

‘qema e ¥

(A) 9§ F9 Yieurcrs qRiefE
e ferameff =1 Sugaa faem T

13.

14.

(B) AT a1 WHEISH ¥ Heifdd wwe
e ekl % T SeRfors e
FHEI

(C) faftre st =t At srawrenari
T AR

(D) ST |t

B Shivga foen % = fagia ®

(A) wHF HrE

(B) iRt Hrem

() =i

(D) T | & Tl

“ srferTy % w9 W STk CCE 1 wgcqul
ST © N

(O Aferm Frred w1 He | 9
g

1) Siae v stfenT i el o6 o
A T

(A) =@ (1)

(B) e (I

(© (@R ) I
(D) 7 (T) 3R A& (1)
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15.

16.

17.

18.

Education requires general set of methods, 15.

focusing mainly on :

(A) systematic observation method
(B) direct-experimentation —
(C) scientific method

(D) sociological method

In learning disabilities, the name for 16.

mathematical disorder is :
(A) Dyspraxia

(B) Dyslexia

(C) Dyscalculia

(D) Dysphasia

The problem of short span of attentionin ~ 17.

students should be handled by :

(A) More feading practice

(B) Small lessons with shorter word
span

(C) More teaching aids

(D) Making textbook more colourful

Interview technique is the mostimportant ~ 18.

part of :

(A) projective techniques

(B) selection techniques

(C) behaviour techniques
(D) questionnaire techniques

foren 3 =T faferd = toRemRa At §
< foF Heraen Shia Bl & -

(A) =gafed e fafa

(B) s v fafyr

(C) Stk fary

(D) ST fafy

@y = stermar §, e famR A R

(A) feafen
(B) fexAferaan
(C) fempapiem
(D) featig=n

foenfele  difqa stay™ & S HI
TR ST Wehell © :

(A) it T3 19§
(B) B veg fIeR % WY B U138 5N

(C) Tero wews Wl % sifuen ST
Y

(D) IS &k o 3Tfeeh T S

HETHR wiefd T Hew gl 9§

(A) wEd wfafaei =

(B) =afTa wiaferl =
(C) HFRRIA wfaferil =i
(D) eATereR fafer w1
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19. Teachers should use teaching aids as 19. foemr g1 TEme W & ST 1 SUR
per : R
(A) The demand of the lesson (A) TS AT F IR T
(B)~ Student's interest (By foenefi =t ¥fa & MR ™
(C) Principal’s instruction (©) T % TS % SMUR T
(D) None of the above (D) W= H H HIE T
20. Research showsthat __~_ is a 20. \H:;H'blld guagaaiefd EitCE]
strong variable in the learning process, ] Wik § T 9o =R %, HYeq: I 9
possibly more important than the ot SoTeT HEeequf =R |
qualifying variable.
(A) Neglect (A) 3u&m
(B) Ignorance (B) HfHga
(C) Motivation (C) SAfIRm
(D) Demotivation (D) frecEE
21. “Children between the age of six and nine 21. “®: Q7 od FI Y & o= F T A I
years have a keen desire to read and 3 T it et 55T Bl ¥ iR Hieraf
write but muscle co-ordination is still ¥ g a1t ot a1l B
imperfect”.
The appropriate behaviour of the teacher Torerr 1 ST @R 31 9IRT :
isto:
(A) Make them practice of reading only (A) 7Y ISA I AAH HEMA
(B) Give them more written work (B) 3= Ay fafea e T s
(C) Put more focus on handwriting (C) fTammEe W iy v fear S
(D) None of the above (D) SR H A H15 T8l
22. The view that “Learning, instead of being 22, ‘' erfarm FHl qITFT HIA F A W
reinforced, should be self-rewarding” SHATCH-TIIIYeR BT =nfea”’
was expressed by : 7 fqamr fe T ®
(A) Skinner (A) faw
(B) Bruner (B) ¥
(C) Pavlov (C) e
(D) Thorndike (D) 9THeRH
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23.

24.

25.

26.

In order to escape punishments, the

adolescent is cautious :

(A) in his behaviour

(B) of rebuke

(C) in socialisation

(D) in demand

Which is a more adequate definition of
the “exceptional child” ?

(A) He is intellectually very superior.
(B) He is emotionally undeveloped.

(C) He is socially much different from
others.

(D) One who deviates from the normal
child in mental, physical and social

characteristics.

Learning depends on cognitive
development :

(A) Always

(B) Sometimes

(C) Never

(D) In calculation

A child who learns slowly needs this type
of education :

(A) Primary education
(B) Basic education
(C) Inclusive education

(D) None of these

23.

24.

25.

26.

G2 d T o R wed A R

(A) T AR U
(B). R

(C) TSR H
(D) oot =

‘fafere e’ 1 gaifs Sage JiuT
g:

(A) ¥ Sifgs &0 @ o 2 31

(B) & WA &Y | SAfhiad ¢
(C) o TrHIferh & ¥ i 9 o ¥

(D) o8 S =T Sewehi bl el § AHiae,
Ifes 3R gEtSte Tqon o e
wefela e § |

e T o o fe w R

(A) T

(B) -t
(C) it T
(D) TUFT W

MM Y dre T S R
TR 1 e Y SEvEehal gl €|

(A) TntHes e
(B) gftaret faem
(C) T fa
(D) T 9 =g T
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27.

28.

29.

30.

Pedagogy is the study of :
(A) Education

(B) Guiding students
(C) Learning process

(D) Teaching methods

Which of the following is an example of
a specific learning disability ?

(A) Mental retardation
(B) Dyslexia
(C) ADHD

(D) Autistic Spectrum disorders

Nature of children are like :
(A) Imitative

(B) Constructive

(C) Imaginative

(D) Destructive

Research shows that part of

27.

28.

29.

30.

ToTequrSTRER T STEE |

(A) Toen

(B)__ STl =1 ATIEYH AT
(C) At ik

(D) Teraror faferat

Treferfaa o 9 %9t fafire sifermy st
T ST B 2

(A) WFAEH HSd
(B) fewifemn
) T

(D) siffefies Teagn fasr

T 1 TS 9 YHR Tl |
(A) THA FET

(B) TEAIHS

(C) hTeufeh

) RRERED

ITHYE | a1 Tl § % TR wer &

our studies is assumed through visual and _ - | AR gaur S &% meaw |
auditory organs. v foRan ST 2
(A) 60% (A) 60%
(B) 85% (B) 85%
(C) 50% (C) 50%
(D) 95% (D) 95%
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46.

47.

48.

49.

‘o3es’ v ThE T 1 W 2
(A) wifa
(B) Wrhd

(C) Ty

(D) gt

“ff @ @1 g, 9 e ST 98 a1 ¢
(A) fafuares a
(B) W<Eard® A
(C) STET= I
(D) Hhaaraes o

‘et Q@ WM e B 3E A
FHF-H FE & ?

(A) F FH
(B) STURH HH
(C) UHEH HH

(D) AR HH

HRE afgd Yo & fhad TER § 2
(A)
(B) T
©

(D) =R

srafsd ey

o forw T TS Y UgEHT AfaNTeE e
e FaeRe ol Ta R : (W9 ik 50, 51
wE 52)

e | g5 H faefifteeell ® we-wa
foru AT A % forg miedsh 7 sifde w6 o
wer a1 TSt el a9 fF I i sfem
21 v F HOR-T-HoR g I off HEel T
N EA ¥ | IR 5 il sk o o R SR
3 frara gwa fog gu) &a 9 o aedt €, gon
o B S & 2 iR I i erfuef Bl
a1a: T Fifvea & fir formn O oiR siféen & forgar
i Tonfua 7 & FeRdt | Wifa 6 9™ H A
wifer o1 forepre Sl el | e g o T I
a& el W § et ol ol wifa ofk g@ A
S s S A W@ A s g 9
1R iR Ff F s wia wa H & W@ €
a7 afE &n favel 1 el 9IEd § d €6 48
SfewrR HE & o, AfEw iR Iw & e 9
faga § wifq Tonfud oA ol aoft fowa # w
YEHE TE Ve T &t S e |

50. TSt fRa® g1 FeR § ToR &ed &l |t
A I i 1d Fed o ? .

(A) 3Tefd & g
(B) fmsgE
(C) Im o stféwn o g

(D) 931 iR Hfe & gRI
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51.

52.

53.

feu T srufed mRIiY w1 S 2eE T grem 2
(A) W9 iR IfEd =1 wew

(B) sfeqen wifeal =t forepmd

(C) EwIdl & §&Rid

(D) ST H ¥ #E 7E

“yiifa % IvmE B TE ST o T e
TE 1" U = ke TR ?

(A) 3TIEt wew AR oA it feafa o+t
Tt

(B) ewrifa iR f&wn i sgren faerm

(C)  3TTifey & FedNTYUl &1 ¥ faenre & i
T T STITEF B

(D) Wi gt Wt €

frtifera & wron diem =t wfspen-3iaia ugen

54.

55.

F2— .-

" a1 / 93 98 Wi AferTy i € faad
T, 94 Wichel ol Aikqsh F e g 4
ey fifea §1'" - Ie wuA 5 faememsh #1

(A) FIT STHTR
(B) . wiftan ArveHd
(C) 29 TFaETd

(D) W &R

fordt 5= & faU oo v T =1 #=
& 72 ,

(A) TU-TC IR Pl TR T o Te3-HER
# 9fg Bt

B) s o A T R g
=E e S=RY, 3fud wfg e

0 T 22 RO 3TRIE-37erIE o Ffct W ert
)
(A) Fau
Q) Fam % yfa SrTeek o § oo @
(B) A= % forami ! =afed §9 ¥ TK[ w0
© 1 SHive foenfaa @ e
(D) & (D) ST W wd §
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- PART -3 .
GENERAL ENGLISH

Directions for Q.-Nos. 56 to 65 :

Read the following passage and answer the
given questions :

Bird, (Class Aves) any of the more than 10,400
species unique in having feathers, the major
characteristic that distinguishes them from all
other animals. A more elaborate definition
would note that they are warm-blooded
vertebrates more related to reptiles than to
mammals and that they have a four-chambered
heart (as do mammals), forelimbs modified into
wings (a trait shared with bats), a hard-shelled
egg, and keen vision, the major sense they rely
on for information about the environment.
More than 1000 extinct species have been
identified from fossil remains. Birds arose as
warm-blooded flying creatures with forelimbs
adapted for flight and hind limbs for perching.

56. How are birds similar to human beings ?
(A) Their forelimbs are modified for
flight.
(B) Their auditory range is limited.
(C) They have a four-chambered heart.
(D) Their eggs are hard-shelled.

57. In the passage, ‘remains’ is :
(A) anoun
(B) averb
(C) an adjective
(D) an adverb

58.

59.

60.

61.

Which of these is a trait of birds not given
in the passage ?

(A) They have feathers.

(B) They are like reptiles.
(C) They lay eggs in nests.
(D) They have good sense of sight.

Here ‘class’ means :

(A) classroom

(B) a group of students taught together
(C) a classified group

(D) birds

The word “extinct’ in the passage functions

(A) a noun
(B) a determiner
(C) an adverb
(D) an adjective

There are ____ species of birds

now on earth.

(A) 10,400
(B) 11,400
(C) 400

(D) 1,000
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62. Birds have limbs.

(A) Two
(B) Three
(C) Four
(D) Six

63. The singular form of species is :
(A) Specy
(B) Speci
(C) Species
(D) Specie

64. Here ‘aves’ means :
(A) birds
(B) animal kingdom
(C) airy
(D) avid

65. According to the passage, that birds are
warm-blooded, makes them different

from :
(A) lions
(B) bats

(C) human beings

Directions for Q. Nos. 66 to 70 :

Read the following poem and answer the
given questions :

I'Know Why the Caged Bird Sinigs

A free bird leaps on the back

Of the wind and floats downstream

Till the current ends and dips his wing

In the orange sun rays

And dares to claim the sky

But a bird that stalks down his narrow cage
Can seldom see through his bars of rage
His wings are clipped and his feet are tied

So he opens his throat to sing

The free bird thinks of another breeze

And the trade winds soft through the sighing
trees

And the fat worms waiting on a dawn-bright
lawn

And he names the sky his own

But a caged bird stands on the grave of dreams
His shadow stands on a nightmare scream
His wings are clipped and his feet are tied

........ so he opens his throat to sing of freedom

66. ‘Graves of dreams’ means :
(A) his dreams cannot be achieved
(B) he does not like to dream
(C) dreams should be buried

(D) snakes (D) dreams are time wasters
SPACE FOR ROUGH WORK / T% &Td & o g
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67. ‘claim the sky” here means : 71. If a person has just started learning a

(A) feels that he owns the sky language and has acquired good

command over grammar, it implies that

B (B) loves the sky o = heT — R
(C) flies in the sky (A) can communicate effectively.
(B) knows the rules of the language.
(D) soars high towards the sky (C) feels confident while expressing

herself/himself.
D) can speak the language fluently.
68. ‘trill’ in the poem means : ©) : SEEE Y
(A) musical sound 72. Remedial teaching is helpful for
students :
B) flat not
() flat note (A) who lag behind in certain areas.
(C) sharp loud sound (B) who want to top in the class.
(D) shrill (C) who have special needs.
(D) who drop out due to family
problems.

69. The words and phrases in the poem that

describe the caged bird’s wretchedness 73. Whenyou correct each and every mistake

of your students,

are :
(A) it improves their language.
(A) fearful trill, grave, clipped (B) it encourages them not to make
(B) fearful trill, grave, feet mistakes.
o ) (C) it shows how alert you are.
(C) fearful trill, worm, clipped (D) they are demotivated.

(D) breeze, grave, clipped
74. Language functions are useful for :

(A) expressing oneself effectively in a
70. ‘dawn - bright lawn’ indicates : particular situation.

(A) moonlit night (B) passing the examination with good

marks.
(B)  bright afternoon (C) reading books with better
understanding.

(C) late evening
(D) writing letters with proper

(D) early morning indenting.

SPACE FOR ROUGH WORK / T &/ & o3 g
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78.

79.

80.

While evaluating essay of High School
students, you would give more marks to
students :

(A) who have good handwriting.

(B) who have expressed ideas in a well-

organized manner.
(C) whose spellings are correct.

(D) whose punctuation is proper.

Direct method :
(A) focuses on mastery of structures.

(B) encourages the use of
mother-tongue.

(C) refrains from using the native
language.

(D) gives emphasis on drill work.

The knowledge of paralinguistic attributes
such as voice modulation and articulation
helps to improve :

(A) speaking skill
(B) reading skill
(C) writing skill

(D)' both reading and writing skill

SPACE FOR ROUGH WORK / T% & & a8 e

75. English language learning becomes easy

when :

(A) the teacher dictates notes.

(B) grammar rules are taught in the
beginning.

(C) the students are asked to practice
structures.

(D) input-rich environment is provided
to the learners.

76. If your students come from a diverse
background, you should :

(A) wunderstand their cultural and
linguistic background.

(B) discourage them to use their
mother-tongue.

(C) ask them to use only target
language.

(D) make sure that they don’t use words
from their dialect.

77. When you watch a movie with subtitles
on T.V., which of the following skills are
improved ?

(A) Listening skill and speaking skill.

(B) Reading skill and writing skill.

(C) Listening skill and reading skill.

(D) Speaking skill and writing skill.
Set - A
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PART - 4 W - 4
MATHEMATICS AND SCIENCE Tfora 3T fagm=

81. Metals are good conductors of heat  81. HIg BT bl =Sl T BT § I :

because :

(A) these contain large number of free (A) TTH o Sl ot §e e Brat
electrons gl

(B) their atoms are relatively far apart (B) S YTHIY] HHIA: T B B

(C) their atoms collide frequently (C) ST ITATY TR TH B

(D) they have reflecting surfaces (D) 3T e Hdg BT

82. A convex lens forms a real image of an 82. TS TG 0 H 99 Th o 9 § u g W

object, placed at a distance u from the @& A, I 0 T W TH ardfoeh idfor
lens, at a distance v from it. The focal ST R | A B wRd gl £2:

length f of the lens is :

(A) u>f>v (A) u>f>v

(B) v>f>u (B) v>f>u

(C) 1less than u as well as v <€) u 3R o SH1 § %A

(D) more than u as well as v (D) u 3R o T 9 aiferen

83. A car completes a journey in 11 hours. 83. UH HR fHEr a1 &I 11 € H qU HL@ g,

First half on 30 km/hour and second half ggelt ot 30 fRdl/ =i 3R QEI'I et
on 25 km/hour. How many distance car 25 fertfi/siat W1 *R Fa fhat {ﬁ et ?
moved ?

(A) 250 km (A) 250 fewet

(B) 375 km (B) 375 Tt

(C) 400 km (C) 400 fwet

(D) 300 km (D) 300 ferst

SPACE FOR ROUGH WORK / T® & & fed s e
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84.

85.

86.

87.

The inductive reactance of an induétor in 84.

d.c. circuit (in ohm) is :
(A) Zero

(B) wL

L

wL

(D) Infinity

©)

When 1 kg of ice at 0°C is mixed with 85.

9 kg of water at 50°C, then the resultant
temperature will be :

(A) 42°C
(B) 37°C
(C) 33°C
(D) 25°C

“15 is completely divisible by 5.” How 86.

will you verify this statement ?
(A) By empirical method

(B) By observational method
(C) By experimental method
(D) None of these

Length of two chords AB and AC of a  87.

circle are 8 cm and 6 cm respectively and

T W& &1 Sl.H. 9Ruy & Wi giqend
(3 o) & :

(A) I3

(B) wL

1

wL

(D) &=

©)

& 0°C W 1 fm a% &1 50°C W 9 fFm
It & Wy o S ® a1, Rt arg
Ul

(A) 42°C

(B) 37°C
(C) 33°C
(D) 25°C

*15, 59 quia: faufom S 81" 59 For ot
HeIdl F B Fi ST HY B 2

(A) Sgufaeh Tl |
(B) aferctiend 9

(C) WA Lk

(D) T @ = T

I HI < e, AB 99T AC HHI: 8 T
ToqT 6 Tt felt § 31 LBAC=90° &1 TR !
e fepert &2

ZBAC=90°. What is the radius of the
circle ?
(A) 25 cm (A) 25 9t
(B) 20 cm (B) 20 9t
(€) 4cm (C) 49
(D) 5cm (D) 59
SPACE FOR ROUGH WORK / T% &hTd o o™l Svie
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88. Sum of three consecutive natural 88. 39 4 fagwfem &M arell 3 HAFK Wihd

numbers divisible by 3 and 4 is 180. el w1 A 180 1 T 9 wed ag
Number largest among them is : e g
—(A) 48 (Ay 48
(B) 60 (B) 60
(C) 72 Q) 72
(D) 84 (D) 84
89. gl 89. “
28+ 28 28 28
"é 24 4 24
g 20+ 20 20 _20
“‘é 16 16 E 16 — 16
£ 12 d5 12
g 8 8 E 8 8
“ | 4 8 | ] 4
4 | g |
0 10 20 30 40 50 60 0 10 20 30 40 50 60
Score class of students BT & WA ol
According to above histogram if ST o feerger afe wden s A
minimum passing mark is 30 then what SeurfeR 30 © @ Fo fohaw % B ST g7
is the percentage of fail students ?
(A) 33% (A) 33%
1 1
35—% 35=%
(B) 3 (B) 3
2 2
66—% 66—%
©) 3 © 3
(D) 44% (D) 44%

SPACE FOR ROUGH WORK / T% &1 & fod sg

0921/TE-TG/RCE-E 21 Set - A



90. A 220 volt 100 watt bulb is connected to ~ 90. 220 HIee, 100 HE % Th ses H 110 dlee
a 110 volt source. The power consumed T % 919 SISl T § | 909 §R1 S i
by the bulb is : Fet Bt
(A) 15 watt (A) 154
(B) 25 watt (B) 254
(©) 35 watt (© 354r
(D) 45 watt (D) 454mrE

91. The velocity of sound in air is not affected 91. orgH taf a7 forad aferds o grr wwifea
by change in : & 2 ?

(A) Moisture content of air (A) T H sTEa
(B) Temperature of air (B) dgehrdmM
(C) Atmospheric pressure (C) agHEEd g
(D) Composition of air (D) =g i Al

92. For learning which model has to be 92. fuaer g diEd ® *F W Aled TR
adopted by the teacher. Which of the ST A A g Ta A @ Ea §?
following can determine this ?

(A) Thought of the teacher on “How (A) ‘e H e €2 W fres @l
the children learn ?”. ICh

(B) The nature of the content. (B) fow =t wfal

(C) Understanding of the teacher on (C) ‘e R?" W e it wwe
“What is learning ?”.

(D) None of these. (D) ¥ 9 %K 78 |

SPACE FOR ROUGH WORK / T% &1 & o wnrg
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93.

94.

95.

Arrange NHQLL , Hy0, H3O+, HF and

OH in increasing order of acidic
nature :

(A) OH <H,0< NHj <HF<H;0"
(B) H,0" <HF<H,0<NH] < OH
(C) NHJ <HF<H, 0" <H,0< OH

(D) H,0" <NHj <HF<OH <H0

Which of the following disease is caused
by Rubella virus ?

(A) Cholera
(B) Tuberculosis
(C) Measles

(D) Diphtheria

Homologous chromosome along with
sister chromatids moves to respective
poles in which of the following stage ?

(A) Anaphase
(B) Anaphase I
(C) Anaphase II

(D) All the above

93.

94.

95.

NH}, H,0, H,0", HF T@ OH 1
e U ta & agd %9 W SFafedd
HIe

(A) OH <H,0<NHj <HF<H;0"
(B) HO' <HF<H,0<NH} < OH
(©) NHj <HF<H,0" <H,0<OH

(D) H,0" <NH3 <HF<OH <H,0

e 8 Y i T were fawm] & B 2

(A) TS
(B) &M
(C) TEuU
(D) fewdifean

T TorgE Tt wfed fre 9 4 foew
afereen § foadd i i SR = S € 2

(A) TRETEE
(B) TEETEE
(C) TETEE I
(D) S el

SPACE FOR ROUGH WORK / % &t & fodt s
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96. Ratio of area of curve linear surface and 96. T AT I & Thd TS 3R 5l I3
total surface of a right circular cylinder is o AT 1 3TN 1: 2% | AfE 59 Hergeia
1:2. If total surface area of right circular SO % HA IS I &ABA 616 2R, @
cylinder is 616 cm?2;-then what will-be its— S-S TR P2
volume ?

(A) 1632 em3 (A) 1632 9B
(B) 1232 cm? (B) 1232 &3
(C) 1848 cm3 (C) 1848 |1
(D) 1078 cm3 (D) 1078 &3

97. Arrange the following green house gases 97. ﬁﬂﬁf@ﬂ%ﬁaqgumﬁ@ﬁgﬁawm
as per decreasing order of green house % Hd S H ared St
factor :

CO,, O;, CH,, N,0O, CECI, CO,, O;, CH,, N,0, CF.Cl,

(A) N,O>CO,>CF,Cl,>0,;>CH, (A) NyO>CO,>CF,Cl,>0,>CH,
(B) CF,(l,>05>N,0>CH,>CO, (B) CF,Cl,>04>N,0>CH,>CO,
(C) O43>CF,Cl,>CH,>CO,>N,0O (C) 0,>CF,ClL,>CH,>CO,>N,0
(D) CO,>CH,>N,0>0,;>CF,(Cl, (D) CO,>CH4>N,0>0,>CF,(Cl,

98. If A, B, C are number of vertices, edges 98. It A, B9 C % o9 ED ?ﬁ'ﬁ, frri qen
and sides of a cube, then what will be qw_cflﬁlﬁ Eakiel %, @M A+B+C fwmamgm?
A+B+C?

(A) 24 (A) 24
(B) 22 (B) 22
© 20 (© 20
(D) 26 (D) 26
SPACE FOR ROUGH WORK / T% &R & & wg
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99. The number of images observablebetween ~ 99. & FHMIRR ¥HdA I & o9 YEIe

two parallel plane mirror is : (sradHr) fha afafer & ?
(A) 2 (A) 2

® 4 B (B) 4

© 6 Q) 6

(D) Infinite (D) 3=

100. Area of rhombus formed by lines 100. i@[ﬁaxibyic=0§lﬂﬁﬂﬁ%§ﬁﬁﬂﬂ

axxbyxc=0is: FAFA T
W N 2
(A) 2 (A) 2

2 2

c c
B) — il
(B) 5 (B) oy
o b o b
© 2 © 2

2c2 22
D) — =
© = D) =

101. Sides of a parallelogram are 60 m and 101. T&F HHIR IS i H??ITQ.'60_"=I'T T 407 ¥

40 m and its one diagonal is 80 m long. 3R IR T foaahul 80 . & B1 TR
What will be its area ? SAES Toha Brm ?
(A)  600y15 m? (A) 600415 .2
(B)  400v15 m? (B) 40015 .2
(C) 500415 m? (C) 500415 .2
(D) 45015 m? (D) 450,15 #t.2

SPACE FOR ROUGH WORK / T &M o fad g
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102. Monthly budget plan of any person

having 18000 monthly income is given in

following Pie-chart :

How much less difference of expenditure

in education and rent than saving ?

(A) 1000

(B)
©

2000
3000

(D) 4000

103. An article is sold in ¥ a on b% profit.
What is cost value of the article ?

102. 18000WWWWWETW
e i e g o e

103.

foren o = 9 feuan ¥ =99 1 S a=q @
fran HHR?

(4)
(B)
(©)
(D)

1000
2000
3000
4000

FE I b% AN W aH IT q et &1 -39
] I AR & fepan &2

100 b 100 b
100—a (A 700-a
100 a 100 a
(B) To0-b (B)  To0-b
100 a 100 a
©  T00+b ©  To0+b
100 b 100 b
(D) 100+a (D) 100+a
SPACE FOR ROUGH WORK / 1% & & ol sig
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104.

105.

106.

(D)

@

T_“,érge‘st number in 250, 340, 430 and 520
is:
(A)
737 4
(©)
(D)

Ratio of annual income of A, B and C is
2:3:5. If monthly income of C is more
than T 900 to A, then monthly income of
Cis:

1,500

16,000

18,000

3,600

(B)
(©)
(D)

Among the following which is
mismatched ?

(@)

Aromatic polynuclear hydrocarbon
- Carcinogen

(b) Fullerene - Aliphatic in nature
(c) Antiknock compound - BTX
(d)

() Maximum percentage in LPG -

Fossil Fuel - Water gas

Propane

(a) and ()
(a) and (e)
(b) and (d)
(c) and (e)

(A)
(B)
©)

104. 250, 340 430 3T 520 ¥ Wl oS HEA T ¢

105.

106.

250

(4)
(B)

©)
(D)

340
430

520

A, B3R C % a1tk oa &l ST 2:3: 5
21 9fz C % wifee 3a9 A F AITES® 9T 9
Z 900 I ¥, &1 C 1 W o © -

(A)
(B)
©)
(D)

1,500
16,000
18,000
3,600

7 3 We i gAfed el 2
(a) WrAfew Weli=faRmR TEgHE -
FEHTR

(b) Feur - ertfes wafd

() U ik - BTX
wifger T - e T

(e) LPG ¥ Taifue Wi - T

(a) T (0)
(2) T (e)
(b) T (@)

D) © (o)

SPACE FOR ROUGH WORK / 1% @Td & fad sE
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107. In a Lake, Zooplanktons are found in
which of the following trophic level ?

(A) First
(B) Second
(C) Third
(D) Fourth

108. The process of transferring files from a
computer on the internet to your
computer is called :

(A) Uploading
(B) Forwarding
(C) FIP

(D) Downloading

109. In a constructivist class the stress of the

activity for assessment is on :

(A) At what efficiency the child uses
algorithm.

(B) The level at which the child is in
comparison with other students.

(C) The child should be able to
understand the tasks likely to be
given to him.

(D) Al of the above.

110. Two object repel each other, this repulsion
could be due to :

(A) frictional force only
(B) electrostatic force only

(C) magnetic force only
(D) either a magnetic or an electrostatic
force

107. T girel § Wioretash i § 9oy & W s
I E?

(A)

TIH

_B)_fgdm

(©)

(D)

LGIES
=g

108. T FF H §eTe g 3791 HPel H Higel
) T H AR B Fed © ¢

(A)
(B)
©)
(D)

- Uploading

Forwarding
FTP

Downloading

109. U TEAETET %e H ke % fou & 7
Tttty o S forg s WEm & ?

(A)

(B)

©)

(D)

T TINGH o1 SN fohet gar
Y |

=1 3T Bl ot ol | foRg A W
gl

=4 S TR S 9 a1t hred i wEE
BT

IYURT 9T |

110. 3 gE T TR I Ffawida = @ ¥, I8
yfaereor e Sro 4 82

(A)
(B)
©)
(D)

e TN 5

Faa feer Sg@ 9

Had FrEIhA g

1 A g o A1 fer faga o
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111.

112.

113.

PART -5
SOCIAL STUDIES

Which of the following Traditional
Musical Instrument of this state is played

by Mouth ?
(a) Mandari (b) Mohari

(c) Todi (d) Turam

Correct answer is :
(a), (b), (d)
(), (©)

(b), (¢), (d)
(b), (d)

(A)
(B)
©)
(D)

‘Khamb Swang’ drama is performed by
which tribe of this state ?

(A)
(B)
©)
(D)

Muriya
Uraon
Dorla
Korku

Oldest Mountain of the world is :
(A)
(B)
©)
(D)

Himalaya
Rocky
Andes

Aravalli

111.

112.

113.

HAT -5
rﬂ!qliz_"aﬁ— eI

=7 H 59 U5 % TETa GO o i 6
§7?

T ST & (HE SFSTG & g0 @ i’
e foran ST © 2

(A) e
(B) U=
(©) wwen
(D) *F

g o1 G W Ted |
(A) ferwer

() TR

(©) ufrew

(D) STt

SPACE FOR ROUGH WORK / % &d & fo&l <
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114. The following garh come within Ratanpur 114, T=fafiEd Tg WA T % <A 3T © |
State.
(a). .Tengagarh (b)) Maro (). STWE (b)_ TR
(c) Lafa (d) Uproda (c) TR d) ST
Correct answer is : T TRE
(A) @, (©) (@ (A) (@) (9 (d)
(B)  (a), (b), (©) (d) (B) (a), (b), (©)(d)
©)  (®), (), () ©) (), (c) (d)
(D) (@, () (© (D) (@) (b) (9
115. What is the character shown by Social 115. GO 3% & faQiwan gt @
Science ?
(A) Itis empirical (A) ¥ STIHfa B §
(B) Itis objectives (B) & SETACH Bl ¥
(©) Itis value needs (C) I e STERFHl Bl 7
(D) It is conjectural (D) I8 3 Gaieft B ©
116. Which author of this state has written  116. 1791 Yaree] @i T 5 Hfgeht’ 39 T &
the composition of 17t Century g oEs 1 e 22
‘Tai Chandrika’ ?
(A) Prahlad Dubey (A) TR 3o
(B) Gopal Mishra (B) et fag
(C) Babu Rewaram (C) = YN
(D) Makhan (D) wr@A
117. Which leader of this state was given the  117. TH o9 % " a1 ! <A1 7 " hiya’ i
title ‘Lokpriya’ by the public ? Surfy feam on ?
(A) Vaman Rao Lakhe (A) aHA TE o
(B) Narayan Rao Meghawale (B) RO T HEelel
(C) Barrister Chhedilal (C) = BT
(D) Thakur Pyarelal (D) oI RIREATA
SPACE FOR ROUGH WORK / % & o o/l STE
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118. Who was the founder of Gupta Empire ?  118. T HIHA ¥ eI B 9 ?

(A) Samudra Gupta (A) T
_(B) ShriGupta _ (B)_ A=
(C) Chandra Gupta (C) ==
(D) None of the above (D) ST H Y &g ot Tl

119. Shivasamudram waterfall is located on  119. REmagew Segu@ fha T R feorg g7

which river ?

(A) Periyar (A) @R

(B) Krishna (B) M

(C) Godavari (C) el

(D) Kaveri (D) wEd
120. Where does Canary Current Flow ? 120. A SN Fa aied aidt € 2

(A) North Coast of Africa (A) ST % STl G

(B) South Coast of Africa (B)  STHIH gfeqolt @2

(C) Eastern Coast of South America (C) <. iR i

(D) Western Coast of South America (D) <. A % afveH a2
121. Meriyana Trench is situated in : 121. Aftar 3= e fea g2

(A) North Pacific Ocean (A) T AT AR

(B) Mid-South Pacific Ocean (B) HHA-TfRI01 W= HETHIR

(C) West Pacific Ocean (C) Ui¥=™ FeIwT HREFR

(D) Mid-Northern Pacific Ocean (D) TEA-IW] TR HEEFR

122. What was the main occupation of people 122. T8y IS G B Wil sl e v e ot ?
during Sindhu Ghati Civilisation ?

(A) Agriculture (A) FH

(B) Rearing cattle (B) WRIUIeH

(C) Fisheries (C) wAEHITAT

(D) None of above (D) I A i of T

SPACE FOR ROUGH WORK / 7% &/ & ot s
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123.

124.

125.

126.

Where is Prairie Grassland ?
(A)
(B)
©
(D)

Russia
Brazil
Australia

United States of America

India became sovereign, democratic

republic on :

(A) 15 Aug 1947
(B) 26 Jan 1950

(C) 30 Jan 1948

(D) 26 Nov 1949

In which of the following state Linseed

production is maximum ?
(A) Bihar

(B)
©
(D)

Rajasthan
Orissa

Madhya Pradesh

Following are the traditional Paintings of
this state :

(a)
©
Correct answer is :
(A) (@) (b) (D
(B) (b), (d)

(© (@) (b), (9
(D) (b), (), (d)

Chouk
Mach

(b)
Athe Kanhaiya (d)

Sawnahi

123.

124.

125.

126.

Terdt e o He el § 2
(A) ®9

(B) mSiret

() wfEm
(D) GIH T R

IRA Ueh Y YUl YSIIdifTeh TR o

15 STTEd 1947 <1
26 I 1950 I
30 S 1948 i
26 TIER 1949 I

e T e e
o=

e & O form T # 3Teret ol ScureA SAfeeh
AT ?

(A) foer

(B) UST®IH

(© e

(D) WA U

TG U5 1 e Tesmren fAfafed €

SPACE FOR ROUGH WORK / T® & & & swe
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127. In which of the following years the 127. Frefafea o @ fea ad § Tom yaq™ R

famous Battle of Haldighati was fought L ! T F " TR sl IS
between_Rana Pratap and_Akbar’s _gsmer? -
army ?

(A) 1568 A.D. (A) 1568 3.

(B) 1576 A.D. (B) 1576 %.

(C) 1578 A.D. (C) 1578 %.

(D) 1580 A.D. (D) 1580 3.

128. In which district Sitalekhani Hill is 128. zzﬁaﬁ@ﬁm@ﬁqﬁéﬁ%%?

located ?

(A) Surajpur (A) YUY
(B) Koriya (B) =i
(C) Sarguja (C) &
(D) Balrampur (D) ST LY

129. “Man is a Social Animal” is the famous 129. ''HIH @WW%"W&’MW

quote of : et 87

(A) Auguste Comte (A) T iR
(B) Socrates (B) gHUd

(C) Plato Q) e

(D) Aristotle (D) STI&]

130. Where is origin of Shivnath river ? 130. f¥Eme 9 =1 ST T FE T ?

(A) Panabaras Hill (A) TR TETSt
(B) Khurja Hill (B) T TEE
(C) Chhuri Hill ©) it wEE

(D) Rajhara Hill (D) TSTel ETs!
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PART - 6

COMPUTER RELATED TO
GENERAL KNOWLEDGE

131.

132.

133.

The interval from the time of submission
of a process to the time of completion is
termed as :

(A)
(B)
©)
(D)

Waiting time
Turnaround time
Response time

Throughput

How to select one hyperlink after another
during a slide presentation ?

(A) Cul+K
(B) Cul+D
(C) Tab

(D) Ctrl+H

A laser printer :
(a) prints an entire line at a time
(b) is a non-impact printer

(c) allows multiple copies to be taken
at a time

| prints one character at a time
- (a) and (b)

(a) and (c)

(c) and (d)
D) (b) and (c)

131.

132.

133.

ar-6
HIET FaAell /A= 1

ferelt wiskan =l T5gd F3 & 99 9 QW HH
¥ 999 & iauel &l frefafaa & w9 9
FATAE

(A) afén A
(B) <HISUE TEH
(C) ToH <A
(D) 93

TNES T & SR T % 1S T TEmiEs
1 = H H § ?

(A) Ctl+K
(B) Curl+D
(C) Tab

(D) Ctl+H

W@ﬁ?ﬁ'l"&: ’

(a) TF AR H TH I A H e B ¥
b) T -3 R

(c) U R ¥ %S el of 9 §

T TR T R ) e e ¥
A) (a) ¥R (b) |
B) (a) 3 (0)

Q) (o) ¥R ()

(b) ¥R (0)

Jd

Set -
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134.

135.

136.

137.

What is “Trend Micro” ?
(A) It is anti-virus software

(B) Itis just a program

(©
(D) None of the above

It is virus

In internet terminology IP means :
(A) Internet Provider

(B) Internet Protocol

(C) Internet Procedure

(D) Internet Processor

Which of the following is not a type of

optical disk ?
(A) DVD

(8) CD

(C) Winchester

(D) WORM
Word Processor can be used to :
(A) Write text

(B) Edit text

~~

C) Print text

(D) All of the above

134.

135.

136.

137.

“Trend Micro” ¥ 8 ?

(A) TE T Ufeamrd Wieawm ¢
(B) ¥ oA T WUM &

(C) IE TH IOE B

(D) ww E & FE T

Teie yiserEel! § IP i HOe ¢
(A) Internet Provider
(B) Internet Protocol
(C) Internet Procedure

(D)

Internet Processor

frefafea § @ w8 & sficwa fewh =
YHR & © 7

(A) DVD
(B) CD
©
(D)

Winchester

WORM

€ FIATR 1 3TENT TR <1 Thar ¢
(A) Fe fae & fod

(B) = Tfee H & ford

() T fewe % fmd

(D) ST |t

SPACE FOR ROUGH WORK / T% &Td & fo& g
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138. Choose the correct arrangement for the

138. 3% Ui=g % 94 § fefafaa At faen

following operating system in the year of % o wet soaeen g1 -
their introduction :
(a) MS-DOS (b) Free BSD (a) MS-DOS (b) Free BSD
(c) MACOS (d) Open BSD () MAC 0S (d) Open BSD
A) @ ® (@ (@ A @ @ (© (@
B @ (© ® (@ B @ (© O ()
© @ @ ® (© © @ (@ ® (©
D) @ (@) ( (®) @) @ () (o (®b)
139. MPEG is used to compress : 139. MPEG H FHF HH & o
SUGRT fERa ST ¥
(A) Frames (A) TH
(B) Images (B) ¥~
(C) Audio (C) e
(D) Video (D) fafean
140. Search Engine is used to search : 140. ¥9 SA w1 39AT w4 & fod
EEE
(a) Documents (a) SiogHH
(b) Video (b) fafed
(c) Images (0 ™
(A) (a) and (b) (A) (a) IR (b)
(B) (a) only (B) A (a)
(©) (a)and () ©) (a) 3R ()
(D) (a), (b) and (c) (D) (a), (b) 3R (0)
SPACE FOR ROUGH WORK / T% &1d & fed sme
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141.

142,

143.

PART -7
GENERAL KNOWLEDGE

What is included in the Liberty to
Expression etc. (Article 19) ?

(a) To visit abroad

(b) To hoist National Flag
(c) Right to Information
(d) To keep silence

A) (@

(B) (@), ()

© (@ @) ©

DO) @, ®), () ()

What is the reason for construction of
houses by wood or light material in
Japan ?

(A) Rainfall
(B) Wind

©)
(D)

Glacier

Earth-quake

When New Indus'ti'ial Policy was
announced in India ?

(A) 24 July 1991
(B) 24 July 2001
(C) 24 July 2005
(D) 24 July 2016

YT -7
AR A

141.

142.

143.

e sifirsafa atfe sl Todsan (319, 19) |
T e € 2

(a) fogwr g1 KT
(b) T &S FET
(c) o W AHR
(d) HEwT

(A) ()

(B) (a), (b)

@), (b), (c)

(@), (b), (c), (d)

A B Heh w1 F0 TeRet a1 geeh! aegS
Y foFd ST 1 T B ?

(A) =
(B) T
(©) femrdt
(D) ™

gRd § 7 Sieifien Hifa @t Seon s«
T ?

(A) 24 JaTE 1991

(B) 24 JTE 2001

(C) 24 TS 2005

(D) 24 JT3 2016

SPACE FOR ROUGH WORK / T& &1d & o smg
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144. For which of the following field  144. frefafad # ¥ frd &= % faQ 3@ TF &

Pt. Ravishankar Shukla Award of this Y, Tferient Y JWhR o S & 2

~ state is given e -

(A) Literary contribution (A) wfea ¥ EICEE

(B) Emancipation of women (B) wfeeT ™

(C) Women education (C) wfgen foem

(D) Communal harmony (D) HIHRIs 98d

145. What is the Nature of Indian Economy ?  145. R 3Tefeearse st Yehid 1 77

(A) Capitalist Economy (A) YSfarer &1 of e

(B) Socialist Economy (B) WHISETG! SefeTerea

(C) Mixed Economy (C) Tafsa srefezrereen

(D) Under-developed Economy (D) 3Teq-fomfaa sreferareen

146. Which is matched in the context of 4274 146. Gfeem 3 42 3 Gener % daol ¥ =0 gafed

Amendment of the Constitution ? ??

(a) A new chapter was included for (a) TiifcTer hdedl 1 71 S et T |
Fundamental Duties.

(b) The term of Lok Sabha was (b) EATHAH FHRIH 6 a9 fHan 7|
extended to Six Years.

(c) The subject ‘Education” which was € T fowm ‘faen’ S =9 = A o,
in State List, shifted to Concurrent qHT G A T
List.

(d) The Proclamation of Emergency (d) STUIEIEHT STETON 1 Teh HIE i
should be approved by Parliament arafy & iR WEg T Wihid W<
within period of one month it was BT =fET; I8 Wrarer ek 4|
provided.

A) (@ (A) (@

(B) (), () (B) (a), (b)

© (@ b)© ©) (@) () ©

(D) (@), (b), (0), (d) (D) (a), (b), (), (d)

SPACE FOR ROUGH WORK / T &t & & g
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147.

148.

149.

150.

Settlement having population upto
10-50 Lakh is known as :

(A) Town

(B) City .

(C) Megapolitan

(D) Megalopolis

By which of the following Amendment
in Indian Constitution Sikkim has been
included as 22"4 State in Indian Union ?
(A) 30t Amendment

(B) 32" Amendment

(C) 34t Amendment

(D) 36t Amendment

The concept of ‘Federation’ adopted in
Indian Constitution has been envisaged
by which of the following Act of British
Government ?

(A) Govt. of India Act, 1909

(B) Govt. of India Act, 1919

(C) Govt. of India Act, 1935

(D) Indian Independence Act, 1947

After the death of which of the following
Bhosla ruler this state was annexed in
British empire ?

(A) Raghuji I

(B) Raghuji I

(C) Raghuji III

(D) Appasahib

-000-

147.

148.

149.

150.

10-50 TG T ! SEE T A =
I FEd € ¢

(A) &N

(B) __TR

(C) WM

(D) AT

e e o Frefafea 3 9 fora geiem
TR fafrrn & wRdE 99 H 22 § T %
wq o witwferd fean T ?

(A) 303 HuEA

(B) 327 WuEA

(C) 349 WuEA

(D) 36 3 HEMEA

uRdg Giaa § ¢ aftds’ =t gfiehea fafea
e ¥ faofateq fee stfufaa @
ieiead i T8 § 2

(A) WG e 3tfufEm, 1909
(B) wRa W& 3rfufam, 1919
(C) wRa weA erfufam, 1935
(D) IRG oI Tl Ui, 1947

e § @ fra digen o # 5 5
qYeTd 36 U9 i Tofew g | gHtied X
o ?

(A) TSI g

(B) s fgd

(C) TSIt g

(D)  STHEIRS

-00o0-
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SET - A
e 3ifeRa T T 9HY : 3 WS } { 3IRreRaw 3 : 150
Time for marking answers : 3 Hours Maximum Marks : 150
e
1. =8 Y- § e 9w g
(1) @ faeem T foen wres 30 3k
(2) wH= et 25 31
(3) HmEE S 25 31
(4) TIfom SiR fom 30 3%
(5) WM AT 20 3%
(6) HFYS HaEfl WA AH 10 &
(7) WM IH 10 3k

TEF T 1 3ok 1 ¥ Wt U9 e et €

2. T ¥ W, A T OMR SW-¥ie (STEETE) T SAfhd Hifsg |

3. eI SN 3ifeRd ST WX 1/4 ek 1S &

4. fwE off 0@ F Fopa 91 i T9e TE WS BF H FE afeid €

5.  OMR ST (STaEie) F T i G99 THT I STU@UEt T 6/ 5 (Sad I8 ® & A
3T e o faeree anfe ue Wi 5o wawesy o8 B 8 S |

Note

1.  This Question Booklet consists of Parts namely :
(1) Child Development and Pedagogy 30 Marks
(2) General Hindi 25 Marks
(3) General English 25 Marks
(4) Mathematics and Science 30 Marks
(5) Social Studies 20 Marks
(6) Computer Related to General Knowledge 10 Marks
(7)  General Knowledge 10 Marks

Each question carries 1 mark. All questions are compulsory.

+ 2. Indicate your answers on the OMR Answer-Sheet provided.
3. .1/4 mark will be deducted for each wrong Answer. -
4.  Use of any type of calculator or log table and mobile phone is proh1b1ted
5.  While using OMR Answer-Sheet care should be taken so that the OMR Answer-Sheet does
not get torn or spoiled due to folds and wrinkles.
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